
Fold master−dev p1p2

(scan("../angsd.master/test/fst_folded/output/pop1.pop2.saf.idx.ml.fold") − scan("test/fst_folded/output/pop1.pop2.saf.idx.ml.fold"))
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Fold master−dev p1p3

(scan("../angsd.master/test/fst_folded/output/pop1.pop3.saf.idx.ml.fold") − scan("test/fst_folded/output/pop1.pop3.saf.idx.ml.fold"))
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Fold master−dev p2p3

(scan("../angsd.master/test/fst_folded/output/pop2.pop3.saf.idx.ml.fold") − scan("test/fst_folded/output/pop2.pop3.saf.idx.ml.fold"))
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Fold true−dev p1p2

(scan("test/fst_folded/input/pop1.pop2.fold.true") − scan("test/fst_folded/output/pop1.pop2.saf.idx.ml.fold"))
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Fold true−master p1p2

(scan("test/fst_folded/input/pop1.pop2.fold.true") − scan("../angsd.master/test/fst_folded/output/pop1.pop2.saf.idx.ml.fold"))
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Fold true−dev p1p3

(scan("test/fst_folded/input/pop1.pop3.fold.true") − scan("test/fst_folded/output/pop1.pop3.saf.idx.ml.fold"))
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Fold true−master p1p3

(scan("test/fst_folded/input/pop1.pop3.fold.true") − scan("../angsd.master/test/fst_folded/output/pop1.pop3.saf.idx.ml.fold"))
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Fold true−dev p2p3

(scan("test/fst_folded/input/pop2.pop3.fold.true") − scan("test/fst_folded/output/pop2.pop3.saf.idx.ml.fold"))
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Fold true−master p2p3

(scan("test/fst_folded/input/pop2.pop3.fold.true") − scan("../angsd.master/test/fst_folded/output/pop2.pop3.saf.idx.ml.fold"))
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